FRDMELER (H21=R1)
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H21&R1
= H21(A) RI(A) <7@?—\> H21(M) £%(M) R1(F) £%(M) (&PD = oo
N 927 824 50 28.76 2,879,336 3427 3,049,756
h2 957 843 60 3452 3,567,849 41.11 3,742,819
NG, 4 1,835 1,738 70 40.27 7,980,709 4797 9,004,161
N5 981 852 80 46.03 4,876,786 54.82 5,044,317
INEHE N6 978 922 90 51.78 5,469,211 61.67 6,140,852
K8k %8 439 394 90 48.9 2,318,447 61.67 2,624,182
(108[=]) o h— 75 75 90 489 396,090 61.67 499,527
INEE 6,192 5,648 27,488,428 30,105,613
X3 2,667 2,377 100 57.53 153,433 68.53| 17,592,747 11.000 | 19.12%
thip g EE 209 194 100 57.53 1,298,567 68.53 1,435,841 11.000
Vet 2,876 2571 100 EiE]  17.869.278 | FEE] 19,028,588 11.000 | 19.12%
X H21 R1 (;E;i) H21 *% R1 &% H21ER12E
ERE 1,884 1,667 30 25.09 2,552,556 31.61 2,845,469
REPE 1,835 1,738 50(55) 40.96 4,058,726 4355 4,087,255
BRE 1,959 1,774 60(65) 42.88 4,536,104 452 4,329,979
INGEE Eo 439 394 60(65) 42.88 1,016,513 452 961,675
N> o h— 75 75 60(65) 42.88 173,664 452 183,060
(54[m]) Vet 6,192 5,648 12,337,564 12,407,438
3 B 36.90 [ 40.68 378 | 10.25%
H1E 2,667 2,377 70(65) 42.88 6,175,492 49.38 6,338,318 6.5 15.16%
thigsg B2 209 194 70(65) 42.88 483,944 49.38 517,305 6.5
INE 2,876 2571 70(65) LPET] 6,659,436 | IR 6,855,623 6.5 15.16%
X4 Ha1 Ri (;i*i) H21 &4 R1 &4 H21ER1E
14 927 824 60 35.11 585,845 54.96 815,167
24F 957 843 70 36.45 627,888 56.03 850,199
3,4 1,835 1,738 80 39.81 1,314,924 57.2 1,789,445
. 5, 6 1,959 1,774 90 41.15 1,451,031 58.38 1,864,190
#8 439 394 90 4115 325,167 58.38 414,031
BHh o 8— 75 75 90 41.15 55,553 58.38 78,813
(18[a]) =
NG 6,192 5,648 4,360,409 5811,845
¥ B 18.04 | 46.12%
EX 2,667 2,377 110 46.45 2,229,879 60.74 2,598,822 14.29| 30.76%
thigsg ) 209 194 110 46.45 174,745 60.74 212,104 14.29
et 2,876 2,571 110 I 2,404,624 | (2] 2810926 14.29] 30.76%
X5 H21 R1 FR% H21 &4 R1 o] H21ER12E
(12%%) Ihep—1E 9,068 8,219 200ml 41.15 CRRT) 71,825,841 74| 17.98%
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(HER8.250M x 108[E] +/X>3.78 x 54[a] + 8 A,18.04[ % 18[a]) = 180[a] =1,419.084H = 180[E] =7.888 M
7.888M +4%,7.4F =15.288H

GEZE)

(KER11H x 108[E] +/526.5 % 54[a]+ $HA,14.29H x 18[8])=-180[8]=1,796.22F =+ 180[8] =9.979
9.979M + 4%.7.4M=17.379H



